Third Semester B.Com. Degree Examination,
October/November 2019
(CBCS Scheme)
Commerce

CORPORATE ACCOUNTING - I

Time : 3 Hours|/ [Max. Marks : 90

Instructions to Candidates : Answers should be written completely either in English or in
Kannada,

SECTION ~ A/ 2gnn - &

Answer any TEN of the following sub-questions. Each sub-question carries
2 marks : (10 x 2 = 20)

alnImecce 83 eud-I 39N Muddi. 238 sus-3871 2 wosnsl :
= ) )

1. (a) Who is an underwriter? o S
Poas ﬁ.ﬂ#%;ﬂﬁ 2000 adRuo? SRAR Yy
(b) Write any two characteristics of firm underwriting. 3 Pian Vo
RBFa, 1OFH b HOE) MOmeFHHYR), wELD. B il L SO
B 8
(c) What is pure underwriting? L e
8ot Wods §.a%) 0% aowders?
{dj What entry do you pass for showing receipt of preference share final call
money?
wi s dedoriy ®03) vlobh ®nG AeEdd mowobiriod aind e DeRdabwE)
wdoad.

(e} What is Non-cumulative preference share?
RoidzoT ur s At dordesy?

(i Closing capital employed is T 4,00,000. Net profit for the current year is
T B0,000. Calculate average capital employed.
woda) womTed BB T 4,00,000, Buds WU Y ey T 80,000, Foaxd
WoRTeY BABTODID, ToE &RBOD.
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(k)

()

Answer any FIVE of the following questions. Each question carries § marks :
(5 x 5 = 25)

How do you calculate super profit?
B oadIn) Sert B LRolnad?

State the features of goodwill.
Bomeaod Mot nnday, 39X

How do vou calculate fair value per share?
&3 dedrf T, 0do003 BTN Ao Bert U5, FT3e0?

Give the meaning of valuation of shares.

decond SR DTRITO VEF TAB.

Write any four non-current assets.

ainRa)mEde Teey, BYNVeD ey, wiodd.

What is meant by calls in arrears?

gone wed aogddema?

SECTION -B/dmri - 4

IR TTCL OF> BBION ougdk. T3 FBH 5 vosrih :

PQR Company Ltd. issued 2,00,000 shares of Rs. 10 each, These shares were

underwritten as follows ;

Ram = 60,000 shares, Sham = 1,00,000 shares. The public applied for 1,40,000

shares. Determine the liability of underwriter.

POR g0z &. T 10 swa wbdad 2,00,000 3@&!‘1&‘&; mEcnason Jels. o :rifdamfdgl

oS3 80903300 B FUEorod LaATLFT

oaSs® = 60,000 Seconsh, =E¢ = 1,00,000 Heconsh mSrudsdon 1,40,000 wedrnsh

woRTLZS, YUSS .08 S30 wmLRbobR) JEFDA.

Briefly explain the different types of preference shares.
g% decond PNy, Fogaen JTB.

—
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N Co. Ltd. has 8000 6% redeemable preference shares of Rs. 100 each fully paid.
The company decides to redeem the shares on May 31, 2019 at a premium
of 5%. The company makes the issue of 2000 equity shares of Rs. 100 each at a
premium of 10%. The issue was fully subscribed and all the amounts were
received. The redemption was duly carried out. The company has sufficient
profits.

Give Journal entries recording the above transactions.

N #omdody de 1000 Ipwmr momeobxmd 8000, e 6 ddpciTe BuZ Hedorida,
B0l 8 dedonvw), gozdodn de. 50 Hevoadodeodit e 31, 20198, H3neudiiodnen
Drirdady. AuTN soddiodn Oe 1008 =D ddodb 2000 mang, Aecondm) ge. 100

Zeobodeobt DeBd. Jeha sen, decorids), PIFuB) SR08) B To3med. dSesd
38 bt SOeBeR08. HoBodn mEa Caiaa), ®A00.

g 2hedn Stbnen Sowodined deemd madaba) WD,

The particulars are available in respect of the business carried on by Umesh and
Co. The results of the last five years were:

2014 2015 2016 2017 2018
Profit or loss in Rs. 80,000 1,04,000 96,000 16,000 [Loss] 1,04,000

The business was looked after by management. Remuneration from alternative
employment if not engaged in the business comes to Rs. 10,000 p.a.

Caleulate the value of goodwill on the basis of 2 years purchase of the average
adjusted profits of last 5 years.

guaies® B30 Bo. ASF Ry o dﬁﬁﬁdﬁ Sowohiciod HICN m,‘iﬁ:l:si% 540 5 SZ3Fnd gdz08
&aehias

2014 2015 2016 2017 2018
enyl/Bd, 0envd 80,000 1,04,000 96,000 16,000 [®] 1,04,000

qﬁﬁmﬁdﬁi DarEm dpenide Swchdad) 30, SadnFob mﬂua‘&fﬁmﬁ ROLTIH st,dmdaq‘
Sadinded BOT Tea&F® dhe. 10,000.

o> IFFRY ToenD Reomedalh eeyd 2 Jdrnd DBeBob R0 Sordd RoERe ﬁﬁ%ﬁﬁg
eig, dav.
W & £

From the following information of D Ltd., calculate the value of equity share
under Yield method : o MARE,

(a) 20,000 equity shares of Rs. 100 each, Rs. 90 paid up

(b) 30,000, 10% preference shares Rs. 100 each fully paid

(c) Normal rate of dividend = 15%

(d) Rate of tax = 50%

(e} Average profits of the company before tax = Rs. 12,00,000

TORFLA MY

roTREa ] Inn s
bt |

e

(i 20% of the profits are transferred to general reserve every year.

3
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D O.1 8 $9NW Snbio0n 2elSd S vRobd) RSP, HeOF SFY TN I w8 -
(a) 3w da. 1008 20,000 »IPE, decories, dr. 90 BT,

(b) ©e. 1008 10% Rowper TIIE 30,000 t3> Hedorish.

(c) onymoEd IR B0 = 15%

(d) 308 @0=50%

(e) 3Briad Fegen Fozdob 30Ed ewyd = dw. 12,00,000

(i de 20 OIS, &3 S SBRF, PN SeFobIeRrZd.

How do you treat the following items, while preparing the final accounts of a
company?

(a} calls in advance

(b) provident fund

() provision for tax

(d) capital reserve

(e} prepaid rent.

B 5¢Na wosrivay Foadod ©od) Je, IZridd zert Loebz0a07?
(a) Sweona Sried

(b) oz 95

(c) sa0)BAT 20M

(d)] womzoy Jyeden

(&) Homs 238 SR wear

From the following particulars of S Ltd. prepare Income statement.
(a) Net profit before tax Rs. 33,50,000.
(b) Provision for taxation 33.5%.
e} Transfer to reserve fund 20% after tax.
{d) Share capital ;
(ij 60,000, 15% preference shares of Rs. 100 each.
() 60,000 equity shares of Rs. 100 each Rs. 75 paid.
fe}  Proposed dividend to equity shareholders 20%.
(ff PandL A/c balance b/f Rs. 4.00,000.
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S O B YNT ASTVNYon BmRa BedbabR) ATSAY |
(a)  orirt Swoss DY eey de. 33,50,000.
(b) BRoNDIG 301t 33.5%.

(e) ez DM Ireeet 20% 3oriob Bodd
(d) Redh woBTY
(ij 3em de dwe. 1008 60,000, 15% g ss dedorieh,
(i) Sew o, 1000 dwe. 75 Sasaa 60,000 mar T Sedarieh.
le) mand SedLusddn ZmAB veysos Se. 20.
() o 83P asdad Je, Bw. 4,00,000.

SECTION - C/2gernt - &

Answer any THREE of the following questions. Each question carries 15 marks :
(3 x 15 = 45)
iRYREEA Fech BBROR cusd. Z3 331 15 wosrieh :

Rohith company made a public issue of 2,50,000 equity shares of Rs. 100 each.
Rs. 50 payable on application. The entire issue was underwritten by four
parties — P, Q, R and S in the proportion of 30%, 25%, 25% and 20% respectively
under the terms agreed upon, a commission of 2% was payable on the amounts
underwritten. P, (J, R and S had also agreed on “firm” underwriting of 8000,
12000, Nil and 30000 shares respectively. The total subscription excluding firm
underwriting including marked applications were for 1,80.000 shares. Marked
applications received were as under:

P = 48000 shares, () = 40000 shares, R = 24000 shares, 5 = 48000 shares.

Ascertain the liability of the individual underwriter and also commission payable
to them.

dBecks® dogdadin 2,50,000 mqs ﬁtﬁ.}ﬁ#ﬁi& dwe. 1000 S Wdobd Mm% wy
g.a. 30 Ww;nm&ﬂ emiies), @ deR ded::ri%igl e goad W{,ﬁdd} &Q}d}ﬁd
P, Q, R 2538 8 sxbaah 30%, 25%, 25% =3y 20%0 wdbmednd yjodd deBoosmd.
Laond dabdony ded de 2 dnc deddd deny msdsdess sarie P, Q, R 383 8
930N 8000, 12000 daw; S8) 30000 Scdrid dRFa, tI0S3r A8=d S 5aBAm0. whd),
Zoaricdy ElﬁFa; Wﬁ:ﬁuﬁﬂi BACIY TEL rotd) SRk oﬁFﬁ#ﬁ% w¥rleoEod 1,80,000
@rdoniyy rodydd IFBAT wlenivy o dddorod wl

P = 48000 dedonied, Q = 40000 Hedorieh, R = 24000 Hecorish 202> S = 48000 decone,

Fdodey o3 sathadd semmnediaba) DHdy eIdn dcEdcnn weRdobay, Fom)
=080,



Q.P. Code - 53331

10. The Balance Sheet of Vijay Ltd. as on 31.3.2018 was as follows:
Balance Sheet
Equity and liabilities: Rs.
Shareholders fund:
Share capital:
Equity shares of Rs. 10 each 36.00.000
8% preference shares of Rs, 10 each 36,00,000

Reserve and surplus:

General reserve 14,40.000
Profit and Loss A/c 21,60,000
Share premium 1,08.000

Current liabilities and provisions:

Creditors 4,992,000

Total 1,14,00,000

Assets:

Non-current assets:

Fixed assets 80,00,000
Investments 13,40,000
Current assets, loans and advances:

Current assets (Bank balance Rs. 8,00,000) 20,60,000

Total 1,14,00,000

The company decides to redeem 8% redeemable preferenice shares at a premium
of 10% and for this purpose the company issued 1,80,000 égnity shares of
Rs. 10 each at a premium of Rs. 10 per share.

The company also sold all investment for Rs. 14,00,000. All payments were made
to redeemable preference shareholders except these holding 10,000 shares who
could not be traced.

Pass Journal entries in the books of Vijay Ltd for the above transactions and also
prepare Balance Sheet of the company after redemption.
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Swalr &, Fozdodn Baeos 31.3.2018 dors B Bk dYsorod adl

WS T,

1883 308y RO :
dedowadd A6 :

et ol

de. 10d maﬁ Aedonied

O.e. 10d de. 85 G0 devonel
Qoemen %) B0 :

TR, doesen

o) PR and

sech B0

10 BomBmde 33y s00,0%09¢
e

eshniely

WoSen esines
MO TIEy
EnbEn)

Boeyeh serieh S08) Sworsre
woparieh (239,08 B, due. 8,00,000)

Wbl

ed

oe.

36,00,000 P = at! iy ilﬂ:ﬂ;jq- |

36,00,000 B H

14,40,000
21,60,000 1
1:D8$ﬂﬂﬂ v . l -;. _ﬁ:’"

4,92,000

1,14,00,000

80,00,000
13,40,000

20,60,000
1,14,00,000

Ehf!%ﬂﬁ DEeoswiony ¥ozIdodw de 8 X n) ifd}ﬂ#:‘-h ge. 10 oa), ﬁz&:-dﬁolﬂohﬁ
Adecud Sntey APFdLd. 900 oA cw. 10d 1,80,000 E&ﬁ:@ﬁi ﬁﬂi}d%"ﬂ) dedd

Low¥, o, 10 dod ﬁmwaﬁulmcﬁﬂ Daond Smas,

gozidad 35 o, BABENYED de 14,00, 0008, 3583, %ﬁ detoreddn dedicvan
DER ﬁmm ga8i03d. emd 10,000 mmrwm B.pobds aifcbmaddm =3 BULD

mqsmﬁﬂ

:&J?einﬁ' ﬂaﬁdﬁ#mi 03 dac ma}dd#@ wEod 203) e aiﬂuczi)iﬂgl Jodmda.
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e

Sonika Ltd proposed to purchase the business carried on by Mr. Yogesh.il

Goodwill for this purpose is agreed to be valued at 3 years. Purchase of the
weighted average profits of the past 4 years. Appropriate weights to be used are:
Year 2015 2016 2017 2018

Weight 1 2 3 4
The profits for these vears are -

Year 2015 2016 2017 2018
Profg (Rs.)  10,10,000 12,40,000  10,00,000 15,00,000

:{jn._ﬁgmtiny of the accounts the followings are revealed.

{aj On 1%t January 2017, a major repair was made in respect of the plant
mceurring Rs. 3,00,000 which amount was charged to revenue, The sajd
sum is agreed to be capitalized for goodwill calculation subject to
adjustment of depreciation of 10% p.a. on reducing balance method,

(b)  The clesing stock for the year 2016 was overvalued by Rs. 1,20,000,

¢} To cover management cost an annual charge of Rs. 2,490,000 should be
made for the purpose of goodwill valuation.

Compute the value of goodwill of the firm,
Aads &, Be aleeher FuzHo %dﬂﬁ;}’@ DOCBI Il o a‘usg?sﬁaaﬁ mmmmi
L1 e @Y 2e8d Zoend Uan St JErny Dbebrt S, 0dndhtt doo

waged enhd,

SR 2015 2016 2017 2018

B8 1 2 3 4

B Saend ey

SdFries 2015 2016 2017 2018

P (da):  10,10,000 12,40,000 10,00.000 15,00,000
Wa3rie Fobewsahd) B $UNT Adobrizh wbSortechs -

fa) &S0 1, 2017 dorb WIOE Forohucod daw wogy SRERNE) da. 3,00,000 o
033D, are 10% 3359 Roomaedart LAE Tomas I nUse wodmYdesten
zuajammi% - BYS0D IR wYTenAd.

(b) 20160 wosz> ﬁd#ﬂi& da. 1,20,000 aSmkp :Sﬁqj':inﬁﬁi Snueehd.
f¢) ASFaam zﬂﬁmﬁﬁmm’m Domas Aot ﬂ'ut:!nfﬂﬁ%ﬂ LT Un. 2,40,000 dedenid.

=y

R!ﬂ?.i ol ZomRa) Eﬁﬁ%ﬁﬂ Ejﬂ; SIE.
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12, Following is the Balance Sheet of Latha Ltd. as on 31.3.2018.
Balance Sheet

Rs.

Equity and liabilities:
Sharcholder’s fund: . Woitngy
Share capital: "#}:’:p ‘Q
1,00,000 equity shares of Rs. 10 each 10,00,000 I“,’w * \‘\\‘::
Reserves and surplus: e i 1":15,4174."'3;"‘1[' )
Reserve fund 2,00,000 SR
Profit and Loss A /c 1,40,000 3, 4 r:-*: e
Secured loans: 55"* TG @,‘"
8% debentures 2,00,000 5 'onff_ﬂ':‘ﬂ:f :
Current liabilities and provisions: ¢
Current liabilities 2,60,000

Total 18,00.000
Assets:
Non-current assets:
Goodwill 4,00,000
Fixed assets 9,00,000
Other non-current assets:
Preliminary téXpenses 1,20,000
Current assets:
Current assets 3.80,000

Total 18,00,000

For the purpose of valuation of shares fixed assets are valued at Rs. 10,000,000
and goodwill at Rs. 3,00,000 debtors included in current assets Rs. 2,00,000,
Provide 10% of debtors as RBD. Stock undervalued by Rs. 18,000. The net profit
for 3 years were Rs. 1,38,000, Rs. 1,43,600 and Rs. 1,80,400 respectively. Qut of
this 20% of the profit was placed to reserve. Normal return on capital emﬁlﬁy&d
is 10%.

Compute the valye of equity shares by net asset method and yield method and
also ascertain the fair value of shares,

5 1.z :‘ﬂ.__
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31.3.2018 dorb o3 Sukn's v Sk e #elgordod 1ol

wERs JE,
O.8.

b3 3 LRI B :
dedomod AR .
Ay wodseY |

k3 cm 100 1,00,000 s, Redorich 10.00,000
apfr*m S8y ®wE0
doemen AR 2,00,000
eyl SEp wed 1,40,000
Fooidmed monid
de. B0 me JIn 2,00,000
0 BASmRdEnd S03) FcBRE :
B30 BABMROEN 2.60,000

nabd), 18,00,000
eslriedy | & Al
ydded esynid
&elr ;i:‘?r:gs 4.00,000
Ao 9.00,000
B3¢ WoSoT @ynivy ;
TIPS S0 1,20,000
Woaned !
3oaridd 3,80,000
2k 7 18,00,000

(=]

dogdmodn Secons dﬂﬂdm goy bRadben ,quan:ri'dﬁi} g 10,00,000 nern ﬁﬁ%
SndeRoE) S8 Efaraﬁﬂu ;sm de. 3,00 OGD ren at;irb"mca}a‘u zsuaﬁsrh*e‘! adsedriely
dm, 2.00,000. zoZcinRin mﬂﬁ@ﬁ ge. 10 oab, doesen ©o3, Zosonsy dw. 18,000
ghtotd. 361 Sodd E}d# eneds) vd9d 3 ﬁai?ridé de. 1,38 DUD da. 1,43,600 2
de. 1,80,400 riwahda. ds engiad e 20 dd), doew Qb1 SreFaLEeRA. FomRoly
wore Betdob oed Se. 10 Sod epyla®), QB eRNG.

Ela‘t# el Igeu o3y ned DFeREd Fozdody Hedd ;:iﬁcgs::iﬂ:- gody LBowd o3y Hevord
e m»amd ﬁﬂo&mb gory LRoh.

10
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13. Prepare Final accounts of a company as per the prescribed format [vertical) from
the following trial balance ason 31.3.2019,

Particulars Dr. (Rs.) Cr. (Rs.)
Sales - 3,50,000
Profit and Loss Afc (31.3.2018) - 15,030
Share capital in shares of Rs. 10 each - 1,00,000
Sundry creditors - 17,500 t';:;:: ¢
Reserve fund - 15,500 et
Discount - 5,000 o ot
Stock (1.4.2018) 75,000 — i """ ot
Purchases 2,45,000 = 1334 "‘"F*’Iﬂ
Wages 50.000 R 1",.., & .-.\,.“
Discount 7,000 - ' 'bq_,j“- s
Salary 7,500 -
Rent 4,950 -
Sundry expenses 17,050 -
Dividend paid (including CDT) 5,000 =
Interim dividend (including CDT) 4,000 -
Debtors 37,500 -
‘Machinery 29,000 -
Cash 10,200 -
Bank 6,000 -
Loan to an employee 3,250 -
Bad debts 1,580 -

2,03,030 5.03,030

Adjustments:

fa) Stock on 31.3.2019 was Rs. 82,000.

(B) Depreciate machinery at 10%.

fe) & months insurance was unexpired at Rs. 750 p.a,
(d) Rent of Rs. 950 was due.

(e} Provide RBD at 5%

()  Provide reserve for discount on creditors at 5%,

(8 Make a provision for income tax to the extent of Rs. 15,000.

11
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o) Fozddod a8 aiwﬂoin 31.30219 donb #esorEod Redeniin m3Bod doId muiamnb
3590 Bossh SEFF YR Bex wow ISP JaiRdk !

S3onvd DAdENeD %)
(62.) (92.)

STt - 3,50,000
enyi-sap 293 (31.3.2018) % 15,030
devhy wo@Eey Om. 100 Hevhrish = 1,000,000
wid), G - 17,500
DoETED 0 - 15,500
Boimond - 5,000
adeo (1.4.2018) 75,000 -
2BeBrish 2,45,000 -
sad 50,000 -
Baimoand 7.000 -
Bowed 7.500 -
phelslyl 4,950 -
2bd) DT 17,050 B
enzod a8 (CDT wirteodod) 5,000 -
205,030 o708 (CDT esiteodod) 4,000 =
adredneh 37.500 -
obod R edstinndd 29,000 -
fofatas! 10,200 --
w00 6,000 -
emd.%eﬂﬁ Tl 3,250 =
H06E) Y 1,580 =

5,03.030 5,03,030
BROTICIBrIVD ¢

(a) =208r31.3.2019 Powd the. 82,000.

(b) abodscdsdery Soedd de 10 SESEGLL drioand.

() &edd 6 3orie 9 Swardmen de. 750.

(d) G 950 it wed ud

(e) wsoSRTIR mond de 5 daly Doezen woh.

() @orY Soeds Bodnotdmh Se. 5 0R) Moesend Head.
(@ O 15,000 Sty emeod SOmN 520202
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